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Question 6- A person bought some article for Rs 10800. In which he sell 2/3
at 5% losSa At what percent profit should he sell the remaining article so that

Pis a profit of 13% on whole.
T4 6- T Afth 4 10800 T H e & @LIel| S/H I8 2/3 =l 5% BT T

ST ©. S I & ohl Tohel TR ST G ST SMieT dTieh 9 T 13% i A1

g7

A.19%
B.21%
C.29%
—D49%

E. None of these
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Question 7- 40% of 1775 + (64)% + 348+4= 2

T 7- 1775 1 40% + (64)? + 3484 =2

X/jr;f5 4036+ 8%

A. 4093
B. 4493
C. 5133

1W+H0é B

\

J\f&q 2 D-4893

E. None of these
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Question 8- (20)2 + (8)3 + (1024-)E = (X)z 3% x5

Hoo+ SI9t-H+H5= 3

A. 61
B3l
C. 961
D. 41
E. None of these

https://t.me/mathbytarunsirmepl



MISSION BANK-2024 o231 <r=J (i
(313 ) -3)

1
Question 9- 80% of 3545 + 33 X27 +—=0f4152 =7
3

1
TF 9- 3545 0T 80% + 33%x27 + 4152%5 =17

A. 4111

B. 3111
—€5111

D. 6111

E. None of these
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E. None of these
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Question 11- 4% X 416 + 2% % 642 =27

< 16
_*%K(H XH6= Ql A.16

L:[}‘ B.32

C.34

L Q4 P48
Q = L1 E. None of these
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Question 12- In an election between two candidates 75% of the voters cast there

votes out of whlared invalid. A candidate got 9261 votes which were

75% of the valid votes. Find the total number of enrolled voters.

T 12- &1 IR o sfT= Ueh <HTE H 75% WATdrsAl  Haa™ fohaT, W § 2% h
TSI IS L TSAT 7T Weh SFHIGAT okl 9261 ATE THet ST e Jf 3Rl 75% Tl

HaN N\ . (N @
[Hllend J-|<'|<i|('||3':ﬁ hl gh(’l T FTd <h[STU|

A. 16000
B. 16400
30 CC~ 16800
D. 18000
E. None of these

https://t.me/mathbytarunsirmepl



@ Lot okl vots—s (660

V07é (Wﬁ 75% oj[ [ooo

:Fff O
i v, S

75
kol 30y, o 150= 93|




MISSION BANK-2024 2 2ax <r<J | @

Question 13- P and Q can do a work 11 60 days)However P 1s 40% more

efficient than Q. If they together worked for 50 days then find time taken by Q
to complete the remaining work.

T 13- P 3K Q T & &l 60 AT H 3 Tkl 81 FTAIR, P, Q 3l T H 40%
3Tk T 81 Ale o Toh |1 50 TorT 9 1 L &, A1 Q BT Y S ohl I A
T TTIT THT T ahiTor|

A. 20 days
—B—24 days

C. 30 days

D. 40 days

E. None of these
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Question 14- A bag containg 4 pink; 6 whitg, anballs. If three balls

are drawn at random then what 1s the probability that no ball 1s white.
T 14- Toh ST H 4 AT, 6 TG 3R 3 Aiell 1< 81 Afe o 7181 i argfssh &9 9

= ST ©, d7 TS |1 T e T &I shl ITTRiehdT -7 82

@ P(E):g—%% TXBx5 22

—_—

— . 31/221
B (3/0%)(\ | |

e 21/286
3 30 75 - 35/286

2®€ . 41/83

None of these
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Question 15- A boat takes™ hours to cover a 810 distance in downstream. If |

the speed of current 1s 40 km/hr then Tind distance covered by boat in 9 hours

and 36 minutes in still water.
T 15- Teh T T o 3T7ehed 810 Teheft sht gt o ot H 9 =i sht &H oicll &) Il
ST 31 7T 40 Fehei/ereT &, ot FEor arefl # 71ar g7 9 5 3 36 foefe o o ot 775 gl

JTa shifSr|

A. 240 km
B. 300 km
C~ 480 km
D. 500 km
E. None of these
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